5.7 PASCAL’S TRIANGLE. Notes

Look for a pattern to add 4 more rows.
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1 10 45 120 210 252 210 12045101
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8 1 8 28 56 70 56 28 81
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101 10 45 120 210 252 210 12045101

1. Remember that [Q = .G Find each of the following.
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. Look at Pascal’s Triangle. Which row has these numbers?
ow ©
3. Find each of the following:
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Binomial Theorem

Multiply and simplify the following.

L{x+y)’ =1

2.x+y) =xty

Vl3.(x+y)z =x"+2xp+y°

4.(x+y) =X +3y+397 + )’

5.(x+y) =x*+ax’y +r6x’y’ +4xy' + 3

(6)(x +y)° =% +55*y' +105° +105%° +52y* +

@(x+y}‘ =5 +6°y +155*y1 + 205"y + 152y + 6a* + *

Analyze carefully. When expanding {x+ :
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There is also a pattern in the coefficients. So, there must be an easier way to
raise a binomial to a power. Write the coefficients of the polynomials in 1

through 7 below: ( [ /
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What does this look like?

So if you want the coefficient of the 12 term of (4\7+y}Is you would
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Examples. Expand each of the following.
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Examples. Expand each of the following.
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Examples. Expand each of the following.
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4) Find the 7t term of (x—y)°
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5) Find the 6% term of (x + 4)’
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